MIIRBEMRAUVAT I EFFEOZERRSHREEHRE—%
TRR24% 78178 ~238 HIFE
BN 1 Sv/h

P I Hb A | T 1A HEfE
1 |\ 0.073 1 |\ 0.068
= | 2 | 0.066 | & | 2 HEAKIE 0.065
%ﬁ 3 |FROEBEOTF 0.075 j%‘ 3 [ D ST AT AMOTF) | 0.061
| 4 | BOBOT 0.084 | #5 | 4 |BVHEDOT 0.075
Y5 gk 0.077 | 2 | 5 |[F~wBHEDTF 0.072
% | 6 MOKRDT 0.080 | 45 | 6 |BkEEOT 0.070
{1% 7 |BEEEOEA P 0.070 {75% 7 [REVO T (FEH) 0.068
% | 8 |EEOHEA AL (FLIL=HD) 0.084 [ % | 8 |REWOT GRAIN 0.055
Pl 9 [[REFRIOE - K (k) 0.067 | T | o |mkE@E 0.063
10 [FIE WD T (2F) 0.046 10 | EED B 455 FH Ok 0.073
1 |5 0.064 1 |\ 0.082
=2 [ HEKE 0.061 [ & | 2 |W 0.066
%ﬁ 3 | BOBELT = ADE 0.075 % 3 | HEKIE 0.061
W4 [YYoF () 0.080 | 5 | 4 HBOKRDT (FH&ENH2AH) 0.059
A 2 aC 1) 0.078 | L | 5 |[BOAD T (EEHS5AH) 0.075
@ | 6 |WiELT = AD GRM) 0.092 | 45 | 6 |RIEEHR 0.072
{72% 7 |EEEOF L 0.065 {% 7 B S AGEETET L — 2 DADRED) | 0.079
= | 8 |[REWDT (FH=R) 0.079 | % | 8 | (PPl 0.073
Al 9 [fEVOF (0L 0.068 | T | o |rpzsFoim 0.073
10 [FREWVO T (R BEVESMAD 0.089 10 | EmEEEmSNE VT 0.142
1 |5 0.071 | . | 1 BHEHET) 0.070
B | 2 | Heski Gl 0.064 | 1 | 2 Wiz 0.081
%U: 3 | HeAki (pEAA) 0.070 ﬁ% 3 | ki 0.052
W 4 T EDT (RSB 0.071 [ vz | 4 |[REVO T (25277 AH) 0.065
s o T 0.076 | | 5 KO T (3772 0.064
w6 [NEWDT R 0.077 [ © | 6 | AEEAEDT 0.057
5% 7 |REVO T (FE) 0.073 %’t 7 BARDOT 0.073
5| 8 [ESANDARDTF 0.097 [ g | 8 BEBDT 0.064
Tl 9 st T 0.067| B | 9 [0&LDOTF 0.098
10 |65 0.071 A 10 |2BEDOHEKE 0.055
1 | 0.060 1 |5 QL@ E %) 0.064
w2 | HeAkiE () 0.066 2 | HEKiE L@ E S AT 0.076
% 3 | Heski (L) 0.089 3 | RO T QL@ EST) 0.068
W4 PRIV ADTF 0.063 | 7z | 4 TR 0.070
|5 AFaDADF 0.067 Z; 5 B T @M ES) 0.083
| 6 |IEM 0.068 | =2 | 6 |&4& 0.065
{;é 7 |REAHSME FosERERS | 0085 [ W | 7 |75 0.081
5 | 8 12BNV T T RO 0.058 8 |HEAR 0.101
PT| 9 | 2BsRas=inT 72 0.078
10 | IBERA L] 0.061




